
Time: 10 Minutes Paper Math 4 (T-1) Total Marks: 10

1st Month, 4th Week, 1st  Day Unit # 1

Q.No.1. Choose the correct option: (6 x 0.5 = 3) 
i) If the price of one books is Rs. 250, then the price of 22 books will be:

 22  250 
(a) Rs. 5 555  5 555 (b) Rs. 5 550  5 550

(c) Rs. 5 500  5 500 (d) Rs. 5 000  5 000

ii) By dividing 3 960 by 68, we will get:  88 3 960

(a) 41 (b) 47 (c) 46 (d) 45

iii) The next term in 6, 18, 30, 42 is :  42, 30, 18, 6

(a) 46 (b) 48 (c) 54 (d) 56

iv) What is the product of 245 and 2 ?  2  245

(a) 390 (b) 420 (c) 450 (d) 490

v) There are 4 500  trees in 90 rows. Each row contains equal number of
treess. Find the number of tree in a row:

 4 500  90

(a) 100 (b) 10 (c) 5 (d) 50

vi) The product of 743 and 12 is:  12  743

(a) 6 816 (b) 7 016 (c) 8 916 (d) 9 316

Q.No.2. Solve the following. (2 x 2 = 4) 
i) 1 245 ×  13

_________________________________________________________________

ii) 78 965 ×  453

_________________________________________________________________

Q.No.3. Find the product. (1.5 x 2 = 3) 
i) 4 324 ×  41

_________________________________________________________________

ii) 78 955 ×  453

_________________________________________________________________
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